HSC 2001 - Software Design and Development

Question 8

8 What would a programmer be likely to use in order to understand the links between the
various modules of a system?
(A) A structure diagram
(B) A decision tree
(C) A system flowchart
(D) A decision table

Choice | Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6
A 31.5 48.9 66.8 91.7 90.9
B 11 5.8 1.5 1 0
C 50.7 431 31.2 7.3 9.1
D 6.8 2.2 0.5 0 0
N 0 0 0 0 0
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The table and graph show, for the groups of students whose marks in the examination corresponded to the
borderline between two bands, what percentages of each group selected the responses A, B, C and D. N is used to
identify: No valid response.
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